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2. Write short answers of any four parts of the following: (4x2=8) -éf{fu{.L?/"Zdibg»:_dfa.uﬁdjbu 2

i. What is meant by prototpye?
ii. What is the usage of symbol <>

iii. Define algorithm.

iv. Describe the importance of testing. v
v. Describe HTML in short. R
vi. Which tag is used for line break? i

3. Write short answers of any four parts of the followi

i. How a statement is considered as boolean proposition?

wfwfcfu:;}f nﬁ/ (69610) ii
L uA S oR" i
-u_‘/..:r.?x+y = y+Xx v
sV sl v
o s Sl S0 i

" ii. Convert (69610) to hexadecima

iii. Write the truth table for "OR" operator.

iv. Provethatx+y = y+x
v. What is meant by copyrigh

vi. Explain the fraud and mistse.

G fer L e e i 50 4
I wAL AR s .
-é;iw.’_dco_g/’g(ﬂ&g& i

. -l i
iv. Define communication ghannel. -é_g}’gfﬁﬂd,;( Jdv
v. Define hypertext. SIS By

vi. Write the output of following HTML code: 2 F wel STEY HTML o i
<p> This is <br> a Line <ip>

i. Defi

<p> This is <br> a Line <ip>

Section-l| s L (e
Note: Write answers of any two questions from the following: (8x2 16) -égiuwé u)lme..éfc.utghbu <
5. Define test data and explain any three types of test data. -/ /oSt bic gy S u/Stiesd 6

6. Define the mesh topology and how does it work? ?4_(31?5’4;/:!4_[/.@/@&)&}5 6
7. Describe DOS (Denial of Service) attack in detail. -q/u_tx:._&..‘{,?l(Denial of Service) DOS .7
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NOTE: Write answers to the questions on objective answer sheet provided. "Four possible angwers A,B,C & D-to

14. Ina

10.

. each question are given.Which answer you consider correct, fill the cofresponding circle A,B,C or D given in

front of each question with Marker or pen ink on the answer sheet provided.

error the solution is working but not giving ~brtpse s BN et A "’J"U‘Jf:‘- 11
required result,. - -

(A) Random Error ,zi4z, (B) Logical eror /_(kfﬁ) (C) Syntax emor 4 ek (D)  Runtime error /gl,f#u/

Which type is not the type of test data:
(A) Elerians (B) Gt (©)
Valid test data Invalld test data
It is "sunshine” outgide sa___
W gt B Had
Bolean proposition Categorical proposition
Hexa decimal system has total ——__numbers.
(A) 17
Communications protocols covér . . 741 df:":{w’f-“gx.f 5
(A)  Authentication} 43S 42 i iont /54" (D) Al (0
URL stands for: ' ie-bnif¥__ URL 6
®) O A S
Unethical resource locator
Pirac -t ey g

(A) Trade secret 'UJJ(,%' llisgat copy {(J¥’ 14 7727 (C) Legal copy 1 AL ) Patent &.ot,

Which of the following s not the charactedistics 9f phishing email: ‘ _uﬁ’QﬁJJ:‘w_@fugfu:J";zw, 8

@) LWIEiTwdts B Rty € dpaddT B At
Official data breach notificat Email account update IT reminder Simitar domain of actual website

The elements Is a container for metadata. ..q.ﬁgt’&}leu!arl K]

(A) <body> (B) <head> (€) <title> (D) <htmi>

’On webpage to give number before start of fruits name which L J S -ﬁwfﬁz’{ 1 /:’.J'L« L rt L s, {6'“.-‘ y 10
tag will be used?
“(A) <dt> (8) <ol> ) <uf> @) <table>
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D fo

11

10.

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

Which strategy divides a complex problem into smaller ¢ L& /f:w T W) 4 LL%& d,f L E uj’r 14
problems? - )
A) Guess 0l (B) Prototype <+  (C) Divide & conque)'// /ﬂ(j (D) t it out T..Lg&f I

Before problem solving, we need to first problem. - >t\ﬁﬂ£ L/J’J:i/u’( 2
(A) Analysis - / (B} Determine uf.” (C) IJn-und&rstandin Z .2 (D) Plannlpg Jt{;
\

The decimal number system consists of digits: / ety £ iSase (SB#1 3
(A) 0t 9 . (B) 1t01 (C) \ 2t08 0to7

The binary equivalent of decimal number (3) is: ' ‘\
(A) (10), (8) (112 () 1111), \ ®) (1000),
 Formal agreement between ocomputeme\nd and ERI O LA . I Mo enLl Usied 5
receive information is callgd: g \\ 2
¢ /—- & / i
A Protocol th/ }Bﬁ Transmisgion m dium(-ffyu’-“)l/‘ ) Sender:ﬂd‘}’ (D)  Receiver nﬂdﬂ:
:ézyﬁi\rﬁoﬁ@h%’@;ﬁﬂ_ 6

Layer /gtsends a messag}v\o the server con%cte with ‘. -
sender/s layer. 7

(A) / Applica qc;‘[df:l (B)  Transpol

. // 8 :
st (©) / Network .f».,, (O)  Datalink &3

ig an am%‘tool for communication. / -q:.,.s’u/( u/é—éwﬂ/'}’ B {

T
v T4 . 4

(A)  Software £a2ll N\ (B) Hackin: (€) Internet & 21 (D) Phishing &%

- & '

____isacyber attac R\Kmake mathine or Agtwork resources Jot el fla e o u)}.q....g AL 8

unavailable for a user. etk Jl.-z‘l
(A) DOS 13 > / (B)  Phishing 68  (C) Hacking £+ (D) Piracy (525
Which attribute specifies the URL of the image? _ ‘-‘.;._étzURLQr".wgd/ziu'c)f 9
@) o <01> B) <di> ©) st ) <lbr> ¢
Each table row is defined with the __ tag. e bbb sad __ S0 VF 10
(A) <01> (B) <dl> ©) <hr> (D) <tr>
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. Section-| k\ﬁp*é '*3\3 Jilo
2. Write short answers of any four parts of the following: (4x2=8) _gggj’agmxﬁé»wzgg.éfa‘ﬁqsau 2
i. Describe selecting the best solution. -yl Ol Sy A
ii. Define problem analysis. //” ™ -’Z_:._gg/"'@/’b’,\’»‘ di
aee . " u H / /\\ " {1} i
iii. What is the purpose of "O" symbol in flow chart? / ( Fertl"O u‘“.:ulul’ iii
iv. Define verification. v \ 3 J/JJ‘{ Gdsr v
v. Describe definition list. EY S YNASEIF L v
vi. Write HTML tag to create column in table. "~ - éLl::,)K K i
// \\ \_,
2 , ‘> .
3. Write short answers of any four parts of th followmg'\(\x2 8) -é{fa{,lz/‘#&rm/k ch..u.‘.';j.‘}éu: .3
i. What is meant by hexadecimal system N U/c.{‘U:’J;k:J' ﬂy?‘ i
ii. Compare volatile memory and non volamé memory. \ : IS A J@u”ut/,ldm’dfeu” i
iii. Convert (1001100), /’i@ecimal rh ber system. / & quirw)dj.tﬁﬂf (1001100), .iii
v. What s distibutior law of Boalgan aigsbra? T W I A iy
i ’ -l +
v. Write two issues r la}éd to data security. rd -a,e‘}tz:Jw;u“ZdAGlz; v
i y A . sl
vi. How,gan we avoid f\ém transactiongl fraud? AN // ‘.‘;‘:_U:lglfd::_ﬂ/d"gy‘l} Vi
// \"\ AN !
4, y/rite short agswers of any four parts of the fg)li@ng: /}x2=8) -z;fgf:,glz/,""é'lzugc.d;ﬁ-.,u:gbw 4
e
/;'fxﬁlzun the rou r //' U=l E 1.
ii. What is n\nt by da\a communication? / ?c‘-_;r/gc.ﬂd,&s i
iii. Compare the\server and\cllent system. ,’;—;J’r(f‘/ .‘:&uﬁ;w/ Jii
AN afr
iv. What is the u:>>( point-to-'pei%onnection? _ ?q_du&ny’ Ku’(*ﬁ!gi&lg v
\ ¥ & W P
v. Define the nested lish, By e e v
vi. Describe the physic )a%r. LA LS i
Section-ll (152 . ,
Note: Write answers of any two questions from the following: (8x2= =16) -Z://UWL U)’b’uc'_éfc_ufgf)bu )
5. What is meant by defining a problem? Which Q’JKJ/‘LI quffwg_ );.uf () /(I‘g‘;[_,l/ 5
strategies we can use to define the problem? ?c.llflpbfdvﬂ
6. What is m‘eant by TCP{IP suit? Explain the i 7 &u,d’_‘/ i ﬁ;{TCP/IP?q_:t/kfc,... +TCP/IP -6
protocols in TCP/IP suit. : :
7. State the purpose of password and write - ga_-.,y/d’ j,,g&éwu/ug MIA(;,,J& 7

characteristics of good password.
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